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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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Ratio-1 (Basic Question)

If 2x = 3y = 3z
then find x : y : z.
(a)15:10: 6 V

(b) 20 :10: 25
(c)25:10:6
(d)30:15:13
(€)36:10:6
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Find X: Y : Z
S o T o
(a) 5:1: 6
(b) 2:5:7
(c)4:5:6
(d) 3:5:1

(e) 6:10:7






(c) 4:5
(e) none of these



(a) 5:1: 6 (b)2:5:7
(c) 4:5: 6 (d) 3:4:5
(e) 6:10:7
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Ratio-1 (Basic Question)

There are 24500 students in three schools
A, B and C of DPS. If the number of
students of three-fourth of school A. two-
thirds of school B, four-fifth of school C
are the same. Then find the total no. of

students i school sty & Jdi
mﬂ mﬁ A, B, C # 24500 &=

%IuﬁmAa}?Fh?raTm TH B
¥ Q-faes, ¥ cF 3smra:m'=ﬁ

I HEAT AT g1 a F:b—or A # BT
$T T &A1 AT ffrw?

a) 14400 b) can not determine
¢)8000 d) None of these
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Ratio-1 (Basic Question)

. fX s wice o ¥,

(a) S5:1: 6
(c)4:5: 6
(e) 6:10:7

(b) 6:3:1

(d) 3:4:5

Y is thrice
of Z.Find X: Y: Z? X. Y &I
gNMAT &, Y, Z 1§19 T 8, X
Y: Z @2
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(b) 16:12:11

(c) 14:15: 16
(d) 13:14:15 (e) 16:10:17









